Calcule en ligne
479 — 25 = 564 — 33 =
667 —42 =

Compare avec le sighe <ou >

4578 4757 3 267 3276
7034 7 304 4367 7634
5 007 5070 2 015 2 105
4 506 4 560 7 845 7 900
5621 5619 8 097 8 100

Trouve une multiplication qui donne ce résultat :

27 = 94 =

63 = 16 =

35 = 64 =




CORRECTIONS
Calcule en ligne
479 - 25 = 454 564 — 33 =531
667 —42 = 625

Compare avec le signe <ou >

4578 < 4757 3267 < 3276
7034 > 7304 4367 < 7634
5007 < 5070 2015 _<_ 2105
4506 <_ 4560 7845 <_ 7900
5621 > 5619 8097 <__ 8100

Trouve une multiplication qui donne ce résultat :

27 = 3x9 54 = 6x9

63 = 7X%x9 16 = 4x40u2x8

35= 7x5 64 = 8x8



